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(PART 15l )
12 2. Write short answers to any SIX (6) questions : : o A7 AL (6}{:.(19" 2

W 1f A—!r(: ﬂmd 3=[_": '2] ol A-B JIB- [_21 ]2};;!,5=[_; 21 4 @

1]
then find A - B
1_::, l-r-: &./‘;L}fupq a+bi (ii)
(iii) Simplify : [ f + 5" 2 (i)
(iv) Find the value of ‘@’ if : log, 6=0.5 : ;'.éf:l"‘a‘fu('a’ (iv)
(v) Solve : i’ i EZF W
(vi) Reduce the rational eleresslon to the lowest form 5{~(~§+:; &l Fu f/“f r'( Fe (i)
(vil)' 31111‘}5%' 32435 10,13 JL SU ;-3‘? “vii)
(viii) Factorize : 5x3 - 20x ’-{dj (viii)
(ix) Factorize 1-125x° A (ix)
12 3. Write short answers to any SIX (6) questions : : ﬁ.:-;u:/ﬂ L =y (6){4.6/ 3
(i) Find [.C.M. x}-;; 85x%yz 187 xy2? - i{PUEiJM!:j (i)

(ii) Define non-strict inequalif ; -é héff‘fur;“-rljt‘-‘/_‘fl}’_;’( (i)
(iii) Solve for x : [3x—5]=4 3x=5|=d : ZEebadx Gid)
_ir:h’....; '[mc.,ff:lb._,afo ¥= mx+c14x 2y=2cbl- (iv)
(iv)  Find the value of m and ¢ of fe given fine 4.!; 2y =2 byexpressing inthe form y=mx +¢

(v) Draw the graph of - e - y :_.l:-...!f,f )
(vi) Define isosceles triangle. ey /"U Sl ALUIGL (vi)
A(3,-5),B(2,-4) c‘a:a';"".l-’bub-uli’ﬁ MA b6 (vii)

(vii) Find the distance between Aand B : A (3,-5),B(2,-4)

{viii} Find the value of unknowns for the given A 2?;5 rrl"‘ o .fi.&;’r'll“" 72 @&L%J‘E‘L%’le Cviii)

congruent triangles :

4 =
Son -3 1mM+b B
(ix) Find the unknowns in the gwen figure : :Efgr:b’q;lﬁr:h’tc_fufd: (ix)
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12 4. f‘l}’nt$,l l'i«a wgrs to any SIX (0) questions : { :}l 4ly ‘E(g{:_jf
u: .b.J" (i)

(2) L&ﬁ —4:—»:-

B

Lis :m.i“"n by the right bisector of a line «.egmenl" "._J!/L-
‘.‘d ny ou S AL 8lTun £ o 3 CULGE Wt L s ,.«n)l,fﬁ'of A1 (i)

(ii) If 3cm and 4cm are lengths of two sides of a nght angle triangle, then what should
+be the third length of the triangle?

6w

(i) Define ratio. te s e o (il
(iv) State Pythagoras theorem. _ Epla L ()

(v) Find the value of x : :}'.-.fi'r‘}":ag;,(x (v)

(vi) What is meant by the triangular region? Yo i Ve el D)

(vii) I'ind the area of given figure ll 2em 3 iﬂ"“'_};ff (vii)

m¥Z =7.6¢cm,mXY =6.lem, mLX =90° AU et AXYZ (viii)

(viii) Construct AXYZ in which : mYZ =7.6cm , mXY =6.lem , ms X = 90°
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(i) Wlkarfig meagg@ the median of a friangle? LJ’@Q%?%?&( (ix)
(PART 1l f22.47 ) ‘

ote * Atempt THREE questions in all. ..f..d}ll 9 ;‘ dlrc)g .é&klﬁﬁcawrcf J‘ 1oy

But question No.9 is Compulsory.
5. (a) Solve by matrix inversion method : 2 oo Lok (O) 5

—4x—-y=-9
3x+y=5
p-\:p-!q g q+v " ”.
(b) Simplify : [a—ff [ . (%—J + S[a"’.a’)p "Lar0 (& (L)
a? | a
6. (a) Use log table to solve M :éppa..uJJ:qfar;fs—' M) 6

(388)*

-Ef_{‘(:i’”.:-EJ[ [x } b/r (.—)
b - A
f \
(b) I Lix l-]:ﬁ then find the value of [125x - --l- 5 ]
5x E25x” )
7. (a) TFactorize by factor theorem : =2x% - x 42 s @il () 7

{b) Find the values of fand m ‘EJ&fJf.Ua,jérP.-.‘éJub:ﬁ masl (2D

R @%‘ﬂﬁl Igli E)‘Pr&»‘ilon will become perfect square : R esu ﬂ i .. p ‘%

+4.r -i-lt':lr + Fx+m

z. .1 1 - ,
8. (a) Solve th tion : — e x k=2 e FReule (0) 8
(a) Solve the equation e —— s o s F ety
{(b) Construct AABC, in which : DUAUTEBABC etk (L)

mBC =42cm . mCA=35cm , mZC =75°
_lf'rfulu...ﬁﬂu:f...b.xb “tas3 9t sl Salr o U L i Bz 9
9. Prove that any point equ1d1st.ml from the end points of a line segment is on the rlgm bisector of if.
OR
d sl a S S Unidalial ;Jb.oU:rc"j Isgeas Skl UCJ"u.I.J Lozl
Prove that triangles on the same base and of the same {i.e. equalj altitudes are equal in area.
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